@ — kDA

1 2 3 4 IE 52
I At (Team AAT]
8—1 8—1 8—0 1
UL % (Team AATP)
KK g (ZU—)
1—8 8—4 1—8 3
HR e+ (ZV—)
e m— (V)
1—8 8—1 8—0 2
1&E HipI (ZV—)
A e GRUER)
0—8 4—8 0—8 4
R EfagL (ZV—)
1 2 3 4 JE iz
2 [ fFF (Team AATP)
8—0 8—0 - 1
/B B H & (TeamAATH
FH EF V)
0—8 8—1 - 2
AH %z (ZV—)
HWH ERK V)
0—8 1—8 - 3
Tl 7k (TV—)
FH B (Team AATP)
WA B (Team AAT]
HE R B
M -3ET 8—0 FH-+H
WE -85 0—8 HhE-NE
RIS
Il -3 5—7 S - /NEF
6—1

4—10




@100 DER

(53

SR s ORHETC)
e AR B OREETC

HA EE@Y—)

A @ )

A e (7)—)
B R (V)

fal B (7U—)
A EE (77U —)

I A5z

JE/ 10 B (RETC)
Fadn o CREETC)

8—9(4)

/N FERE (BIWA TC)

/T 835 (BIWA TC)

9—8(4)

I BAdR V)
/INPE LT (FY—)

(=3

B 8 Citer=—
B T (7))

9—8(4)

fig i % (BIWA TC)

H)11 HERL (BIWA TC)

8—9(4)

THE—- TV

il o (7Y—)

[

AN ERGE O-tt =
I EFE R =

M ¥ (BIWA TC)

INE T2 (BIWA T

H F&fn (7Y —)
e L (ZV—)

R

ES 1 RER S
/NN
R

HEH-EH
FRE - FRE
/N - /NET




@ 120N

1 2 3 4 [[1=Livd
A7 —)
6—1 6—4 6—0 1

JUKBAE(ZY—)
TR RN (LN T =227

1—6 3—6 2—6 4
B E LT =2257)
B = B2 (BIWATC)

4—6 6—3 4—6 3
[l ARZRIT.(BIWATC)
IRFE(ZY—)

0—6 6—2 6—4 2
K EH(7)—)

1 2 3 4 (Y3
FEEF=I(7U—)
6—3 6—2 2—6 2

HESF RN (Y —)
FVEILIR(Team AATP

3—6 6—0 1—6 4
[H 1 #8F-(Team AATP
PEIFE (LsF=2257)

2-6 0-6 1-6 3
I (LT =225
INNEREREY =

6—2 6—1 6—1 1
I SECREE = —
HER B B - AR 6—2 REEF-REEF

AR KB 3—6 AN

R TSI S 4—6




